Premier 4 feed tray assembly parts views

0285 097.4R feed
table guide, right

j 0285 097.4S feed table - b
guide stabilizer (2) PRK177 thumbscrew
- w/10-32 flat washer (2)

0285 097.4L feed
table guide, left

0285 099 .4 feed
table knob nut (2)

g : 10-32 acorn nut (2) fastened w/ 10-32 x Y4 nylon screw (2)

10-32 x 3/8 pan head phil screws (2)




